


“THE MYSTERY OF MARIE ROGET”

Match the questions to their corresponding answers.

What is this story based on?

| Loire River.

What are Dupin's critiques of the
newspaper's conclusions?

-Marie_lﬁéef was known as

Accuses news of sensationalism. Newspapers
said that the bodies need 6 days to surface.
paper disputes whether it is Marie Roget.
refute
differentiation between a body that drowns and
| a body going into the water already dead... the
body wasn't taken directly to the morgue which
makes their evidence less credible.

A gang was seen nearby.

-Details to

claim: there is no

Why do the police think multiple
people killed her?

Poe. Dupin

Poe is a natural person using a fictional parallel
account to try and solve a genuine case.

is a made-up character

One of the newspapers argues that it
must be a gang. They tore off a part
of their coat to strangle her because
they did not have a handkerchief.
What was the argument for this
being incorrect?

Hudson River.

The story is serialized... expi'ai"n.

"The Perfume Girl"

What does Dupin conclude about the
clothing found?

The sensationalized murder of Mary Rogers.

What is the name of the river where
the body of Mary Rogers was found?

That she has a secret lover that she keeps
running off with.

‘What is the name of the river where
the body of Marie Roget was found?

| Dupin argues that all gangs have handkerchiefs
because they pretend to be proper so it could not
have been a gang.

How did Marie Roget die?

Murdered.

Why is the story unsuccessful
according to Aydelotte?

Who does this story taréét;.’ g

He concludes that the clothes should have been
found right away and that the timing isn't right.
It seems like they had been left there as clues.

' ﬁ;\n'fspaper rather than police.

How is this different from The
Murders in the Rue Morgue?

No solution, human suspect, no investigation
(instead rely on newspaper).

‘Who is the narrator and why does he
identify himself?

Dupin is close to solving the murder because Poe
thinks he figured it out - the abortion story
comes out and suddenly there is a more
probable solution than the one he discovered in
fiction, so Marie Roget has a completely
different ending than Mary Rogers’s case.

Marie Roget has disappeared before
- what does Dupin hypothesize?

Murders present an ordered world.. we
construct order...
conclusion to establish right in the world, and no
scapegoat...the length of the story is also very
long, does not follow a narrative structure, and
has contradictions... we do not like to see all the
dead ends of the police.

there is no Killer, no
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